R RN

N
A

TR RS BEE

SRR IS s

B=E G (P82 31/10/2015
P L AR T LU

Sl | ﬂi’ﬁﬁ,mq 2l
LI 3/11/2015

1. 3 L Ay

1. —g[ﬂq&
(1) JE{5 FuBE 8193  if: Pyt
, [RE eSS
HEIEE e (7#7) (P#7)
Rk 10,000,000,000 0.01 10,000,000,000
o (WD) 197 e
* E A 10,000,000,000 0.01 100,000,000.00
(2) 4= (5 eBE s P
[ HEEA
?’iiﬁlﬁ%’@’rﬁ‘ ﬂ%” ] ET /ﬁ ﬂ% ﬂf/élf’
R
o (WD)
* E




RS AT R QIS T

2. B
17y FRBE Tt B
Fiif
e | %%%Wﬁ tﬁgyg
BRI fi}% ( ﬂ%‘f;%*ﬂf/éff)
R
o, (WD)
* F
3. H PSRRI
2y feek Tl B
I [E1fif
PSR ¢ ﬁ%%fﬂf/é/“ P
F fi}ﬁf ( ﬂ%%::ffﬁf/ Ef/ﬂ)
| s
o/ (WD)
7+ F| s
A F T A SR () 100,000,000.00




. &1 3 4 )

RS AT R QIS T

]

F RIS (D)

+ S

HE e
(1) (2) RSP PR
857,968,600 TR TR T
4,000,000,000 TR T T
4,857,968,600 TR T T

1. =13 R

NS (RUSSE = - P DT IR D

Ay BT R
l\?‘] ’ E[J}‘E"lqg—‘ﬁ\’ﬁ

PR A A L e
T

P~ FR)

B gD F R L B!
(FU/ETE) 2 &I
i 2 ciaal i LA 4 g
1 s '
¥* 18/05/2011
124
FiEE
i
£ 0.1626 1 1,685,100
G 2t 127 127 e 2] (G
(D)
2. ISR
% 18/05/2011
=
I
48 0.367 HhA
TipyE I2E 12E] 12E] 127 127% 26,570,000
(7 1)
3. it
Crr
el
(=0 .
AR A (?iiﬁﬂg) T
(A1) Tl
(T P RIRIAE () T
B PE LEARR T Y E AAE (ﬁ%ﬁ%ﬂﬂ iy ToE"




RS AT R QIS T

P PR 0B A

1

Al
-

FH
it

il
I -

1F = F1/E1) FIifERs TR

TP

SLS OSSR

CPHETIH O O
TS &l

ol

#

1.

Cc rr )

A PS8 (e 7))
i 5 ]
e

e

b i

597 (1)
(F1/E 1)

I

(

[/
s B (=1 )
it 3 R

I
i ]

hestets i e
1 (|
(F1/E]1F)

/1

(

! )
W PR (e 7))
5 R
(D

£l )
e i

7 (T3 1)
(1))

I

(

[
W B (U7
i 58 A
iy

e
b S i

(™)
(F1/HI1=)

/

B, (
(

T\ﬁﬂj
TﬁEIJ
T

T
L)
(81 PRI )




R B (e s B ] o )

RS AT R QIS T

FEH
PRIF=5T [ A F R R e

T e it
BEREIPSUER R ER poiigel BRI
s R A B S
1.

Ry PR (=T )
Ak bl

=
?EE

R I PR

m@mww?

(F1/E]/) (1)

sy B (Up=1 )
3 A A
G

2
%%ﬁw«ﬁﬁﬁﬂ

1 (U1 1)
(F1/H]=) (1)

R PR (=T )
T A

£
P

oL T

17 (1" )

(1 151/5) (1)

T B (011 171))
i 8 B

I
E;i« E\é iEF?

I

%wmwwf

(A1) (11 )

HUCC. (TR Tk
() 1"

CH P TR




RS AT R QIS T

ELAR (R ] 18R S A UL (7 E PR bR AR (T S ARG T SRR R 8 =
)

FHP F
[“H‘BEE = Efl WLFL»_FIJ H:éﬁ = E[fj

ErAE s EnAiE b1 el

i

_n
M

177

Emwﬁ%ﬁﬁm*ﬁﬂﬁﬂwﬂﬂﬁwﬂ@wﬁwwﬁﬁ%%
7]

e
RIS

(/1)
(1)

(/7 )
T F1)

(/7 )
el )

WD (o | T
(BLE) | g
PRI | 1ol




S [ priag

RS AT R QIS T

P o F [ R

PN [rges e
fugE = - gt~
P B
Bt ! Bt
3 17 151
[ R Y T
. ) e TSP I (11 )
1. e l?f’fﬁi ﬁ%ﬁiﬁ'ﬂ&fﬁ (FI/5] 1)
TR G 00 )
e i
(FI/E] 1) 127% 127%
[ YRR Bty 1]l 95]—“1) -
BRI (1)
2. ZHHEHE ﬁ%ﬁ%ﬂﬂévﬁ? (F1P 1)
s L LG
(117715 147 147
R AR G L) i
- TSP I
e | . = [Py — 1JE] ]
3. R 10 Ry e (F17H]1=) (15/10/2015)
LRI T
LU (14/09/2015)
(FEI7) 2,600,000,000 127%]

4. RS

i R ()

J |":f—}s'/ B lg}f :
?%I/EJ/E)%E J (/1)

TR B p i !
Hﬂﬁﬂﬁ | TFA{”EJIH (177 )
(F1/H1=) 3

Ka
mb




RS AT R QIS T

I IR
PR RS
ElfJ g+ ElfJ g =+
P P
B! Bet!
38 = K]l

S0 S p—

= I:jrjsvl e [,H\E :
fwwgéEJ Crr)

TR WIS G R !
%ﬁﬁl AP )
(FUF=)

5. [HQ‘I,‘L‘,FJ I’F};{éﬁ . @nggj

Fra [ Y S gq——:;’f y —
FLAli 1]
6. P&y P;fg“g) (/7 )

Eﬁﬁwiﬁﬁﬁp (11 )

~

(F1/F1E)

G TEa G p—

]
7. W (1) Crr)

R ()
(F171/) j

Ka
mb

e Gkt ] p—

ST TR
fwwngj S

g%ﬁﬁ*ﬁﬁﬁﬁ (/1)
(FI1H115)

il
ﬂ

8. RISk

<

[
—s=
)\

-
Ka
mb
mL




E IR et 5 S Tl

A E ER i

PRI [ g=a
g i - iSE e
B FEDy
Het! Het!
3 5 1]
AR SR gq:if 1)
FE G /
9. AL (F17E1=) ( )
qg‘ﬁﬁﬁﬂﬂ*?ﬁm (11 )
(EI/F 1) 197 12%)
i SRR gq%f 1) F58]
, FE G
10. HF P - %iﬁF (FI/F]1) (15/10/2015)
(FAE\B) (Fl(g J?C W
—_— %%IJF?HU*{&Q
(14/09/2015)
(E I/F /?F)
1,400,000,000 127
AR E. fg Fiaf]%) 4,000,000,000
RAE) 3=t
(# f%zr;fw[ W) 12
A HIFEEETL S (b)) AREE CITA = EZFIpSAn) - 1 4,000,000,000
@ T
+ IR  (WD) AR (AT A Z ECRIpURA) Tl
I PIRIAE e (WD) AR (AT A = EHpVREAT) T

(FHPE IS 12 N (TR A, ) [T - )




RS AT R QIS T

e -
HoH: Bk
i =)
(&g - ﬂ?{ﬁ‘/iﬂ T PEARY * )
ﬂf

2. YrEE TR - T -



